

14. المثلث ABC قائم الزاوية عند C

$$M\left(\frac{1+\epsilon}{r}, \frac{1-\epsilon}{r}\right) = (r, 1) \quad m_{AB} = \frac{1+\epsilon}{r-\epsilon} = -\frac{1}{r} \rightarrow m' = \frac{1}{r}$$

$$y-1 = \frac{1}{r}(x-r) \rightarrow y = \frac{1}{r}x + \frac{\epsilon}{r}$$

$$BC = \sqrt{(V-r)^2 + (-\epsilon+1)^2} = \sqrt{9+14} = \sqrt{r^2} = r$$

$$m_{BC} = \frac{V-r}{-\epsilon+1} = \frac{\epsilon}{-r} \rightarrow y-r = -\frac{\epsilon}{r}(x+1) \rightarrow y = -\frac{\epsilon}{r}x + \frac{\omega}{r} \rightarrow ry + \epsilon x = \omega \rightarrow A(r, 1)$$

$$d = \frac{|1r+r-\omega|}{\sqrt{14+9}} = \frac{1}{\omega} = r = AH \quad BC = AH = \omega = r = r$$

$$ry - x = V \rightarrow m = \frac{1}{r} \rightarrow \frac{a}{\epsilon} = \frac{1}{r} \rightarrow a = r \rightarrow \epsilon y = rx + r \rightarrow ry - x = 1, ry - x = V$$

$$d = \frac{|V-1|}{\sqrt{1+\epsilon}} = \frac{9}{\sqrt{\omega}} = rr \rightarrow r = \frac{r}{\sqrt{\omega}} \quad S = \pi r^2 \rightarrow \pi \left(\frac{r}{\sqrt{\omega}}\right)^2 = \frac{9}{\omega} \pi$$

$$M\left(\frac{r+\epsilon}{r}, \frac{r+1}{r}\right) = (r, r) \quad CM = \sqrt{(-r-r)^2 + (-1-r)^2} = \sqrt{r^2+14} = \sqrt{\epsilon} 1$$

$$m_{AB} = \frac{r-1}{r-\epsilon} = -\frac{1}{r} \quad y-1 = -1(x-\epsilon) \rightarrow y+x = \omega \Rightarrow d = \frac{|-1-1-r-\omega|}{\sqrt{1+1}} = \frac{9}{\sqrt{r}} = CH$$

$$(CM)^2 = (CH)^2 + (HM)^2 \rightarrow \epsilon 1 = \frac{9}{r} + (HM)^2 \rightarrow HM^2 = \frac{1}{r} \rightarrow HM = \frac{1}{\sqrt{r}} = \frac{\sqrt{r}}{r}$$

$$m_{AM} = -1 \rightarrow \frac{-rm+r}{\omega-m} \times \frac{-m-1}{-rm+\epsilon} = -1 \rightarrow \frac{-rm+r}{\omega-m} = \frac{rm-\epsilon}{-m-1}$$

$$rm^2 + \epsilon m - rm - r = 1, m = \frac{rm^2 - r + \epsilon m}{\omega - m} \rightarrow \omega m^2 - 17m + 14 = 0 \rightarrow \Delta < 0$$

بما ان $\Delta < 0$ فلا يوجد حلا حقيقي

$$x+r = \epsilon x - r \rightarrow \omega x = \omega \rightarrow x=1, y=1 \rightarrow A(1,1)$$

$$-ry + r = -y + \epsilon \rightarrow y = -1, x = \omega \rightarrow B(\omega, -1) \quad M\left(\frac{\omega+\frac{\omega}{r}}{r}, \frac{-1+\frac{V}{r}}{r}\right) = \left(\frac{1}{r}, \frac{r}{r}\right)$$

$$rm - 1 = -x + \epsilon \rightarrow rm = \omega \rightarrow x = \frac{\omega}{r}, y = \frac{V}{r}$$

$$\rightarrow AM = \sqrt{\left(\frac{V}{r}\right)^2 + \left(-\frac{1}{r}\right)^2} = \frac{\omega\sqrt{r}}{r} \quad AH = \frac{|1+1-\epsilon|}{\sqrt{r}} = \frac{r}{\sqrt{r}} = \sqrt{r}$$

$$\frac{AM}{AH} = \frac{\frac{\omega\sqrt{r}}{r}}{\sqrt{r}} = \frac{\omega}{r}$$

s.a.m

$$y = -\frac{1}{r}x + b \rightarrow A(r, b, 0) \quad B(0, b)$$

$$AB = \sqrt{(rb-0)^2 + (0-b)^2} = \sqrt{ab^2} \quad x+ry-rb=0 \rightarrow \frac{|0+0-rb|}{\sqrt{1+r^2}} = \frac{r|b|}{\sqrt{a}} = r\sqrt{a} \rightarrow |b| = a$$

$$\Rightarrow \sqrt{ab^2} = \sqrt{a} = a\sqrt{a} = AB$$

$$xy - 6x = 7m \xrightarrow{y=0} x = -\frac{m}{r} \rightarrow x = \frac{a}{r} \rightarrow m = -a$$

$$y + mx = x + r \xrightarrow{y=0} x = \frac{r}{1-m} \rightarrow x = \frac{a}{r} \rightarrow m = \frac{a}{a}$$

$$-a \times \frac{a}{a} = -a$$

$$m = r \quad y = rx - r \quad x=0 \rightarrow (0, -r)$$

$$r = \frac{0+x'}{r} \rightarrow x' = r$$

$$-r = \frac{-r+y'}{r} \rightarrow y' = -1 \rightarrow A'(r, -1)$$

$$y+1 = r(x-r) \rightarrow y = rx - r$$

$$m = 1 \rightarrow m' = -1 \quad y = r = -1(m-1) \rightarrow y = -x + r \quad x+r = 0 \rightarrow x = -r \rightarrow x = -1$$

$$m(-1, r) \quad \frac{1+m'}{r} = -1 \rightarrow m' = -r \quad \frac{r+y'}{r} = r \rightarrow y' = r \quad A'(-r, r)$$

$$a = -r \quad b = r \quad rb - a = r(r) - (-r) = a$$